
a1: 125
a2: 105 Good p q c s(pq) profits Tot. : 2149.3
a3: 175 1 25.00 59.8 10.1 0.34 892.5 CS:
b: 4 2 26.00 49.7 11.8 0.29 705.7 TS:
d: 0.5 3 29.00 55.1 19.0 0.36 551.0 HHI: 3358
e: 0.75
f: 3.5
g: 0.8 Good p q c s(pq) profits Tot. : 2199.2  p  
h: 5.5 1 26.01 56.4 10.0 0.34 904.3 CS: 4.0 1.3
p1: 25.00 2 27.06 46.6 11.4 0.29 727.8 TS: 4.1 3.1
p2: 26.00 3 29.15 55.8 19.0 0.37 567.1 HHI: 5319 0.5 2.9
p3: 29.00
e1: 0.99
e2: 0.97

Merger simulation using Bertrand model shown on pages 741-742 of Church and Ware:

Pre-merger Bertrand Equilibrium

Post-merger Bertrand Equilibrium

q1 = 125 - 4*p1 + 0.5*p2 + 0.75*p3
q2 = 105 + 0.5*p1 - 3.5*p2 + 0.8*p3

Cost efficiencies: e1 = 0.99 (post-merger: c1*e1)
Cost efficiencies: e2 = 0.97 (post-merger: c2*e2)

ONLY change cells B10 - B23, which are estimated demand parameters, observed pre-merger prices and anticipated 
efficiencies. Rest adjusts automatically.

q3 = 175 + 0.75*p1 + 0.8*p2 - 5.5*p3


